4. Fill in the blanks to complete each statement.
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(basic skills in #23-68 in 5.2, #F17-44 tn 5.3, #23-02 in 0.3, and #45-66 in 6.4)

lim_secz = [ 4 (sec?z) =_2Sec X - Seex fan %
|
3 téﬁ eedh }lliix%)(lJrh)% = £ 4 (Infz)) = x
l{ x4
lim csc3z=_O° 4 (93z+l) — (L..‘L-\l (3\
z—0t a8 e
20 0
gg alzi_r.r%]tan"lsc =_0 %(sin_l(aﬁ)) = :E %P’ (3E1—)
e &
ili%m— /5 4 (In(2® + 1)) = yc“ (‘Sx )

tan—1
5. Circle ALL of the following that are equal to le, and cross out the rest.

sin™'x
(simnilar skills as 51 in 0.4)
‘Z‘ g cotx tanz\ ! sinx arctan x
cscx sinz tan x arcsinx
6. Circle ALL of the following that FAIL to be in the domain of f (& = 1 (1 > and

n\r—
cross out the rest. (similar to #43 in 5.1)

;‘f =O sf;= @E= 3:=3

7. Circle ALL of the following that are valid trlgonometrlc identities, and cross out the
rest. (similar to #5-8, #9-12, and #44-49 in 6.2)

% sc(—B) = —csc(f) %in@cos@ =1+ cosf
=5 >(2 sin?6 — cos20 = 1 —cos?0 =sin? 0

sin(cos x)

8. Circle the ONE answer that is equal to lim , and cross out the rest.
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232 TEST 1

You may use your notebook during the last fifteen minutes of this ezam.
You may NOT use calculators, cell phones, loose papers, or peeking.

Math 232
February 10, 2012. Name: ¥ ey ¥ V2

By printing my name I‘j{lcdgc to uphold the honor code.

1. Determine whether each of the following is True (T) or False (F).

(T 7 it)im% =1 thenb=e.
@ F  If lim In(f(2)) = 0, then lim f(z) =
z—2 z—2

T @ If sin~! 2 = 6 then sin @ is greater than or equal to zero.

¢WL @ F  If Q(t) is exponential with continuous growth rate k, then Q'(¢) = kQ(%).

‘l d i @ 3(2%) is equal to 6%.
&g A i @ 1nx=%.

/tj T @ To find the derivative of tana we had to use the definition of derivative.
@ F  The graph of cscx has vertical asymptotes at x = km, for any integer k.
T @ There are only two angles whose sine is —%.

@ F  f(z) =50 — 2% has a horizontal asymptote at y = 50.

2. Circle the ONE answer that is equal to lim sin(cos )

—>—2- COsS T

, and cross out the rest.
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3. Circle ALL of the following that FAIL to be in the domain of f(z) = 1 and

cross out the rest.
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